MEM1DRVCON | fi Eiipe

[2n+1:2n] 7t VDDmem1=1.8v [1&E UL T
N=0~11 00=3mA

01=7 mA

10=10 mA

11=14 mA

# VDDmem1=2.5v [\ T
00=5mA

01=10 mA

10=15mA

11=20 mA

10.2.22 AR W 7 2%

SRS INT ) 0-0 FANBEALAL . SUAT SN FIBTAL O JHF 5 BRI e vs . 76 2B,
T 160 T4 T B e

IR0 i S 8 T 25 47 S 00 3. O L TP, O L0 T A T L H Bz 41 o )
LM%, S306410 W rith O 4105 AN A LU AP35 5 9T OB, BOABALIREAT A2 4248
AN A B TT A 2 AR AL O ADECTIE B S FIN, B AL Bt S

J5is¢ PCLK.
A ik Iy | ik ST AE
EINTOCONO 0x7F008900 B | AN 0 (04D FLEF A4 O 0x0
EINTOCON1 OX7F008904 | B/ | AN O (041 Fl'E 7ifras 1 0x0

EINTOFLTCONO | Ox7F008910 BIS | AN 0 (04l W pEdEH A 7es 0 | 0x0

EINTOFLTCON1 0x7F008914 5 AN O (04D i yEdsHZA74% 1 | Ox0

EINTOFLTCON2 | Ox7F008918 BIS | AN 0 (04l W uEdEH A 7es 2 | 0x0

EINTOFLTCON3 0x7F00891C 5 AN O (04D I yEdsHZFA74% 3 | Ox0




EINTOMASK 0x7F008920 B | AMESR T O (041D BicE A7 OXOFFFFFFF
EINTOPEND OX7F008924 | /5 | AN 0 (04D BH:ZFAras 0x0
EINT12CON 0x7F008200 WIS | AMERET 1. 2 (1. 240) EE AR | 0x0
EINT34CON Ox7F008204 | #/5 | AMHPIKT 3. 4 (3. 4 41) WA A4+ | OX0
EINT56CON 0x7F008208 WIS | AMFFT 5. 6 (5. 6 41) FLE /AR | OX0
EINT78CON Ox7F00820C | #/5 | ANMHPIKT 7. 8 (7. 841) ML'EZFA74% | OXO
EINT9CON OX7F008210 | /5 | AN 9 (94D it & FAras 0x0
EINT12FLTCON | Ox7F008220 WIS | AN 1. 2 (1. 240) gl | ox0

145
EINT34FLTCON | Ox7F008224 WIS | AN 3. 4 (3. 440 Ul | 0x0

175
EINTS6FLTCON | Ox7F008228 | /5 | Akl 5. 6 (5. 6 41) idJE#=il% | 0x0

175
EINT78FLTCON | Ox7F00822C | /5 | AR 7. 8 (7. 8 41) b jk#=ihl% | 0x0

145
EINT9FLTCON 0x7F008230 BE | AhER T 9 (941D REyEsEHIE A74E 0 | 0x0
EINT12MASK 0x7F008240 BE | AN L. 2 (1. 24 Bl fra% | OXOOFF7FFF
EINT34 MASK 0x7F008244 B | AN 3. 4 (3. 440 Bl fras | Ox3FFFO3FF
EINT56 MASK Ox7F008248 TS| AMEPIT 5. 6 (5. 641 FERCAA7AY | OXO3FFOO7F
EINT78 MASK OX7FO0824C | /"5 | APl 7. 8 (7. 841D Bl /7#s | OX7FFFFFFF
EINT9 MASK 0x7F008250 TS| AN 9 (94D il 0x000001FF
EINT12PEND Ox7F008260 | #/%5 | AMATPIKT 1. 2 (1. 240) B A4t | 0x0
EINT34 PEND 0x7F008264 BIE | AMEFTNT 3. 4 (3. 441) B AEE | 0x0
EINT56 PEND Ox7F008268 | #/%5 | NPT 5. 6 (5. 6 4) B4t | 0x0
EINT78 PEND Ox7F00826C | /5 | AhEBHdlT 7. 8 (7. 841) BH: 74 | 0x0
EINT9 PEND OX7F008270 | /5 | AN 9 (94D BH:ZFHAras 0x0
PRIORITY 0x7F008280 B | e A A Ox3FF
SERVICE Ox7F008284 i T RS A A7 A% 0x0




SERVICEPEND 0x7F008288 BE | AR RSB A A 0x0
EINTOCONO i ik HIgRIRAS
Reserved [31] {733l 0
EINT15. 14 [30:28] | #'E EINTL5 Al EINT14 KI5 4 J7 ik 0000
000={% H1* 001=75 Hi -
OLx=14 ¥ T B ful 10x=34 ¥ ETHil &
Lx=1L ¥ b
Reserved [27] TR 0
EINT13. 12 [26:24] | % & EINT13 fil EINT12 1540515 0000
000={IG 1~ 001=r5 Hi°F
OLx=14 ¥ T B ful & 10x=34 ¥ ETHil &
1x=10 i fi &

Reserved [23] N 0
EINT11. 10 [22:20] | #'& EINTA1 F1 EINT10 ({15477 0000
000={i% H1T* 001=75 Hi -

OLx=14%5 N Befib K 10x=1 7 b THi R
1x=1 5 fi &
Reserved [19] N 0
EINTY. 8 [18:16] | ¥ & EINTO I EINTS ({54 7k 0000
000=fI& i 001=r5 H1 1
OLx=14%5 N Befib 10x=i 7 b THilR
1x=10 i fih &
Reserved [15] N 0
EINT7. 6 [14:12] | %% EINT7 Al EINT6 (154 5% 0000
000=fI& i 001=r5 H1 1
OLx=147H T A& 10x=14 45 LT Hi A
1x=10 #¥fid
Reserved [11] {733l 0




EINT5. 4 [10:8] | W'E EINTS #l EINT4 {54 4% 0000
000=fi& i 001=r5 H1. 1
OLx=147H T A& 10x=14 45 LT Hi A
1x=10 #¥fid
Reserved (7] N 0
EINT3. 2 [6:4] ¥ H EINT3 F1 EINT2 {45 4712 0000
000=fI& i 001=r5 H1 1
OLx=14 W5 T B ful 10x=i4 ¥ ETHil &
Lx=1L ¥ i
Reserved [3] TR 0
EINT1. O [2:0] WE EINTL A EINTO HI{54 771 0000
000={i% H1T* 001=75 Hi -
OLx=14 W T B ful 10x=34 ¥ FTHil &
Lx=1L ¥ i
EINTOCON1 i Eitipa WIHHIRAS
Reserved [31:23] N 0
EINT27. 26 [22:20] | % & EINT27 fil EINT26 [f15 451k 0000
000={% H1* 001=75 Hi -
OLx=147 T A& 10x=14 45 LT Hi A
1x=1 i fil &

Reserved [19] N 0
EINT25. 24 [18:16] | ¥ '& EINT13 fil EINT12 15451k 0000
000=fI&Hi - 001=r5 H1 1

OLx=147H T A& 10x=14 45 T Hi A
1x=10 i fi &
Reserved [15] N 0
EINT23. 22 [14:12] | %' EINT23 fil EINT22 ({54 51k 0000

000=A% Hi, - 001=15; H3,°F-




O1X=JU 5 F b
Vx=i4 ¥ fb

10x=3 LT Hik

Reserved [11] (73] 0
EINT21. 20 [10:8] | W& EINT2L F1 EINT20 154 J5v2: 0000
000=fI& Hi - 001=r5 H1 1
OLx=147H T FEf & 10x=14 45 LT Hi A

1x=10 i fi &

Reserved (7] N 0
EINT19. 18 [6:4] W E EINT19 Al EINT18 HIf5 4 7 ik 0000
000=fI&Hi - 001=r5 H1 1

OLx=14%5 N Kefib 10x=i 7 b FHil R
1x=10 5 fid
Reserved [3] TR 0
EINT17. 16 [2:0] WE EINT17 Fl EINT16 [15 4 572 0000
000=fI&Hi - 001=r5 H1 1
OLx=14 ¥ T B ful & 10x=34 ¥ FTHil &
1x=10 5 fid
EINTOFLTCONO i ik HIRIRAS
FLTEN [31] EINT6. 7 i flifE 0
0=%% 1=AfifE
FLTSEL [30] EINT6. 7 JEJ a4 0
O=JEIR P s =5 I 2%
EINT6. 7 [29:24] | EINT6. 7 ifyé 000
2 FLTSEL 520 1 INAT2
FLTEN [23] EINT4. 5 i JE#{fE 0
o=Akik  1={fifE
FLTSEL [22] EINT4. 5 yEJ% A% 0

O=SEIRJER 23 =507 IR




EINT4. 5 [21:16] EINT4, 51l 000
X FLTSEL {824 1 BG 5K
FLTEN [15] EINT2. 3 ilJEasfnE 0
0=2%1k  1={fifig
FLTSEL [14] | EINT2. 3 yEussieds 0
O=JLIR & it 35 =57 B P
EINT2. 3 [13:8] EINT2. 3idjk 000
4 FLTSEL {2 1 I H 3K
FLTEN (71 EINTO. 1 ilJEas{fnE 0
0=%% 1=ff g
FLTSEL [6] EINTO. 1 JEJasikse 0
O=HEIRJE 35 =5 I 2%
EINTO. 1 [5:0] EINTO. 1id3§ 000
4 FLTSEL {2 1 I H 3K
EINTOFLTCON1 L ik HILHIRFS
FLTEN [31] EINT14, 15 idJE2sflifg 0
0=%% 1=ff g
FLTSEL [30] EINT14. 15 JEH AL 0
O=HEIRJEYL 35 =5 I 2%
EINT14. 15 [29:24] EINT14. 15 it 000
4 FLTSEL {24 1 I 3%
FLTEN [23] EINT12, 13 idJEgsflifg 0
O=2E1l-  1={ffE
FLTSEL [22] EINT12. 13 JEJH#%IEHE 0
O=HEIRJEYL 35 =5 I 2%
EINT12. 13 [21:16] EIN12, 13 ifi§ 000
2 FLTSEL fE4 1 BH 3K
FLTEN [15] EINT10. 11 iJJEas{FRE 0




O=A%1k  1=ffifig

FLTSEL [14] | EINT10. 11 i seikss 0
O=JLIR & it 35 =57 B B
EINT10. 11 [13:8] EINT10. 11 ity 000
X FLTSEL {84 1 BH 5K
FLTEN (71 EINT8. 9 ilJEas{ffE 0
0=%% 1=ff g
FLTSEL [6] EINTS. 9 JEJ a4 0
O=JLIR J& i 35 =57 B B
EINTS. 9 [5:0] EINT8. 9 iljE 000
4 FLTSEL {E24 1 3K
EINTOFLTCON2 L e HITHIRFS
FLTEN [31] EINT22, 23 nbjygas iR 0
0=%% 1=ff g
FLTSEL [30] EINT22. 23 JE Ak 0
O=HEIRJEYL 35 =50 B P
EINT22. 23 [29:24] EINT22, 23 ity 000
Y FLTSEL {E24 1 3K
FLTEN [23] EINT20, 21 idJEsflifg 0
=251 1=flikE
FLTSEL [22] EINT20. 21 JEJaeik# 0
O=HEIR L #5 =50 UE P
EINT20. 21 [21:16] EIN20. 21 ifi§ 000
X FLTSEL {84 1 BH %K.
FLTEN [15] EINT18. 19 iTJEsflifg 0
=251 1=flikE
FLTSEL [14] | EINT18. 10 JEBeik#t 0

O=4ER YU s =50 IR B




EINT18. 19 [13:8] EINT18. 19 ifyé 000
2 FLTSEL {84 1 BH %K.
FLTEN (71 EINT16. 17 nbygesffRg 0
0=2k1E  1={lifig
FLTSEL [6] | EINT16, 17 JEieikst 0
O=HEIRJE; 35 =57 BB
EINT16. 17 [5:0] EINT16. 17 T3 000
4 FLTSEL {E24 1 I 3K
EINTOFLTCON3 i i W&
FLTEN [15] EINT26. 27 il ygesffRg 0
0=%% 1=ff g
FLTSEL [14] EINT26. 27 JEH Ak # 0
O=H#EIRJEH; 35 =57 B P
EINT26. 27 [13:8] EINT26. 27 Ly 000
Y FLTSEL {20 1 3K
FLTEN 7 EINT24, 25 idJE2sflifg 0
0=%% 1=ff g
FLTSEL [6] EINT24, 25 JEil ik £ 0
O=HEIRJEYL 35 =5 I 2%
EINT24. 25 [5:0] EINT24. 25idyé 000
4 FLTSEL {24 1 I 3%

EINTOMASK L e WIS
EINT27 [27] O=Aii ¥ 1=Jt 1
EINT26 [26]] O=1g v 7 1=5t il 1
EINT25 [25] O=1g v 7 1=5t il 1
EINT24 [24] O=Aii B 1=Pt i 1
EINT23 [23] O=1g v 7 1=5t il 1




EINT22 [22] O={ 117 1=/ it 1
EINT21 [21] O=Agi v 7 1=tk 1
EINT20 [20] O={ 1 b7 1=/ it 1
EINT19 [19] O=Agi v 7 1=tk 1
EINT18 [18] O={ 1 b7 1=/ it 1
EINT17 [17] O=Agi v 7 1=tk 1
EINT16 [16]] O=Agi v 7 1=tk 1
EINT15 [15] O={ 1 b7 1=/ it 1
EINT14 [14] O=ff 11k 1=ft ik 1
EINT13 [13] O=1 1 b7 1=/ it 1
EINT12 [12] O=Agi v 7 1=tk 1
EINT11 [11] O=1 1 b7 1=/ it 1
EINT10 [10] O=1 1 b7 1=/ it 1
EINT9 [9] O=Agi v 7 1=tk 1
EINTS (8] O=Ai 1 ¥ 1=/ iz 1
EINT7 (7] O=Agi v 7 1=tk 1
EINT6 (611 O=1 1 b7 1=/ it 1
EINT5 [5] O=Agi v 7 1=tk 1
EINT4 [4] O=Agi v 7 1=tk 1
EINT3 [3] o= 1 l¥r 1=/ iz 1
EINT2 [2] O=Agi v 7 1=tk 1
EINT1 [1] O=1 1 b7 1=/ it 1
EINTO [0] O=Agi v 7 1=tk 1
EINTOPEND fir Eitipa B
EINT27 [27] | O=A& L 1=K L 1
EINT26 [26]] | O=AKErl 1=K E b 1
EINT25 [25] O=A KA Wy 1=K Ak 1




EINT24 [24] O=AN A H 7 =R 1
EINT23 [23] O=ANJ il 1=k A 1
EINT22 [22] O=AN A H =R 1
EINT21 [21] 0= A= vh 1= 1
EINT20 [20] O=AN A =R 1
EINT19 [19] O=ANJ il 1= i 1
EINT18 [18] 0= A= vh 1= 1
EINT17 [17] O=AK A= iy 1= A i 1
EINT16 [16]] 0= A= vh 7 1= 1
EINT15 [15] O=AN A =R 1
EINT14 [14] 0= A= vh iy 1=k A 1
EINT13 [13] O=AN 2B =R 1
EINT12 [12] O=AN A =R 1
EINT11 [11] O=" A= vh =R A 1
EINT10 [10] O=AN 2B =R 1
EINT9 [9] O=AN KAl 1= v iy 1
EINT8 [8] O=AN A 1=k 1
EINT7 (7 O=ANJ il 1= i 1
EINT6 [6]] O=ANJ il 1=K A 1
EINT5 (5] O=AK A= iy 1= A i 1
EINT4 (4] O=AK = iy 1=K Wi 1
EINT3 [3] O=AN A 1=k 1
EINT2 [2] O=ANJ il 1= i 1
EINT1 [1] O=AN A 1=k 1
EINTO [0] O=AN A 1=k 1
EINT12CON fir Eitipa B
Reserved [31:23] TRE 0
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